
B. Solve − 3 = √6x 6− 2 − x  

 

 

 

 

 

 

 

 

Previous Answer: 

X = 35 

A. Solve x = √3x 4+ 5  

 



 

 

 

 

 

 

 

Previous Answer: 

X = 5, 7  



               √ x
8 + 6 = 4  

C. Solve 

 

 

 

 

 

 

 

Previous Answer: 

X = 9  



K. Solve √10 − x = √x − 4  

 

 

 

 

 

 

 

 

Previous Answer: 

No Solution  



F. Solve 65 = 7√x 0− 1  

 

 

 

 

 

 

 

 

Previous Answer: 

X = 7  



I. Solve √− 2 7x7 + 1 = x  

 

 

 

 

 

 

 

 

Previous Answer: 

X = 74  



R. Solve x = 6 + √4x 8− 2  

 

 

 

 

 

 

 

 

Previous Answer: 

X = 8, 9  



E. Solve 88√2x − 6 + 4 = 6  

 

 

 

 

 

 

 

 

Previous Answer: 

X = 8 


